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DEZ0 140,503 161,632 ~21,129
= 112,403
= 14,050
2 14,050
301 YBrEAZ 140,503 161,632 ~21,129
= 112,403
= 14,050
2 14,050
01 At B X253 140,503 161,632 ~21,129
OJIzME+SX DRSSO 140,503
=2 112,403
= 14,050
2 14,050
PN 32,538 25,718 6,820
= 26,030
= 3,254
2 3,254
301 YsrPAS 32,538 25,718 6,820
=2 26,030
= 3,254
2 3,254
01 At BZ X453 32,538 25,718 6,820
OJNEME2ST o4 BRI 32,538
= 26,030
= 3,254
2 3,254
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= 903
2 903
201 Yer2g| 1,110 2,000 A890
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= 11
2 11
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2 792
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OR&S SZHOIXN 7,922
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HAH=N 2,825,950 3,562,843 A736,893
2,260,760
282,595
282,595

M

301 LEtEA S 2,825,950 3,562,843 AT736,893
2,260,760
282,595
282,595

M

+0ll= 2,825,950 3,562,843 AT736,893
OJlzdg=a= X 4B 2,825,950

2,260,760
282,595
282,595

MW

F=HSN 669,332 763,593 A94,261
535,466
66,933
66,933

W

301 et ez 669,332 763,593 A94,261
535,466
66,933
66,933

MW

01 Ma2EH 63 669, 332 763,593 N94,261
=g FASH 669, 332

535,466
66,933
66,933

MW

MAES MUWI U=XI& 16,400 15,400 1,000
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10,250

EURCH

301 et ez 16,400 15,400 1,000
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10,250
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01 At 2t2iHl 6,600 0 6,600
Ollzdg=gi ZF22= Sl 6,600
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H




SN EOIME D
HE: JASE 4
[u}

CHol: 2019 AN MEBEE (oo &2
_ _ MNuE o
2N -3 - c2(3H) - NEME - HES Ol & oK '@,‘;OH Hns
301 YErE AR 47,221 0 47,221
2 47,221
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2 1,362,161
= 153,851
7 2 236,490
a2 A XIS 1,341,424 1,344,964 A3,540
2 1,060,659
= 137,262
2 143,503
201 LBy 12,000 12,000 0
2 9,600
= 1,200
2 1,200
01 A222/H| 12,000 12,000 0
OXES22AY AFREZ 12,000
2 9,600
= 1,200
2 1,200
301 LEHE A2 300,000 300,000 0
2 240,000
= 30,000
2 30,000
12 JIEtE A 300,000 300,000 0
OXE2ZAIY 1A 300,000
2 240,000
= 30,000
2 30,000
307 QI2+0IA 1,029,424 1,032,964 3,540
2 811,059
= 106,062
2 112,303
05 DI2t9 et 1,029,424 1,032,964 3,540
OMBIHAXIZIEE N2 QI E 1,013,824
2 811,059
= 101,382
2 101,383
OXrE ARl AL Al 22 15,600
= 4,680
2 10,920
X < X2 M Ef 2 A Y 165,980 150,763 15,217
2 116,186
2 49,79
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55,054
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5,473
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54,856

198

MW

55,054
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5,473
5,473

54,856

198

MW

55,054

55,054
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5,473
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54,856

EURCH
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Mok

8,330

2,500
5,830

8,330

U

8,330
8,330

2,500
5,830

8,330

MW

127,698
103,804
6,138
17,756

74,889

52,809

307 ©I2+0| &

127,698

74,889

52,809




SA: FoIME Y
M JASES MO 1
CHol: REAHIA (ol &)
_ _ PG ==
S H(3H) - MEAMY - BES Off AF o4 0Ol At o8 Hlws2
= 103,804
& 6,138
= 17,756
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& 750
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= 37,404
= 9,352
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3 37,404
= 9,352
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O3 YISEHN 46,756
= 37,404
= 9,352
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= 89,132
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= 72,555
SEXA XA 36,000 35,000 1,000
201 Letgh| 5,000 5,000 0
01 AtR2t2l] 1,000 1,000 0
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02 23234l 4,000 4,000 0
OF 4,000
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